BARDTH -

0

%

@

Ba /50

104£X5

ff;%lﬁd)% @ T/ 7 TFCEWHREER
[1]ROBEDEIZV IDELLE XV,
A2 I35 E ¥ ®wKZ 40 E
135 + 40 = 1|75 5 175 &=
X 50 E ¥ HEHL 80 E
80 - 50 = 30 5 30 EE
mR 120 E v @K 45 E
120 - 45 = 75 5 75 EE
wmR 120 E ¥ HEE 120 E
120 + 120 = 240 #5240 &=
R 65 E Yy @KL 35 E
65 + 35 = |00 - 100 EE
) I|l
) F A &

No.(

0T MEER S B - FTEE T, https://monomanabi.co.jp Cﬁ%{b



EZ'KU)T#*‘T: 15:/*\ /50

ﬁfg@% @ 10#x5

E/7TFEWHREN

[I]ROBREDEIEZVL IDEAL LR IW

o

O #L 45 E r @R 180 E

=X 45 + 180 = 225 £z 225 EE
@ ®R I5 E v HL 75 E
= 75 - 15 = 60 %z 60 £ =
Q@ @R 80 E r @R 30 E
2y 80 - 30 = 50 3 50 £ =
@ wmKZR 90 E r HL |15 E
=X 90 + 15 = 105 3 105 £ =
® B 150 E v @K 110 E
=X 150 + 110 = 260 %% 260 £ =

No.( ) F B &R

0T MEER S B - FTEE T, https://monomanabi.co.jp _wcﬁﬁ{b



BARDTH i) /50

ﬁfg@% @ 10#x5

E/7TFEWHREN

[I]ROBREDEIEZVL IDEAL LR IW

o

O #L 95 E r @K 95 E

= 95 4+ 95 = 190 5 190 EE
@ HEFZE 120 E ¥y ®HL 30 E
= 120 - 30 = 90 5 90 EE
Q wRER 60 E ¥y @R 60 E
= 60 - 60 = 0 %5 o) EE
@ #wR 160 E ¥y HL 15 E
= 160 + 15 = |75 5 175 &=
® HFL 55 E ¥y @R 65 E
= 55 + 65 = 120 K7 | 20 EE

No.( ) & fa &

0T MEER S B - FTEE T, https://monomanabi.co.jp Cﬁ%{b



	★　経度差①　解答
	★　経度差　①　解答
	Sheet1


	★　経度差②　解答
	★　経度差　②　解答
	Sheet1


	★　経度差③　解答
	★　経度差　③　解答
	Sheet1



